

Integration

$$\textcircled{1} \int \frac{x^2-1}{x^2+1} dx$$

$$I = \int \frac{(x^2-1) dx}{x^2+1}$$

$$= \int \frac{(x^2-1)/x^2}{(x^2+1)/x^2} dx$$

$$= \int \frac{(1 - \frac{1}{x^2}) dx}{x^2 + \frac{1}{x^2}}$$

$$= \int \frac{(1 - \frac{1}{x^2}) dx}{(x + \frac{1}{x})^2 - 2x \cdot \frac{1}{x}}$$

$$= \int \frac{(1 - \frac{1}{x^2}) dx}{(x + \frac{1}{x})^2 - 2}$$

Let $x + \frac{1}{x} = z$

$$\frac{dz}{dx} = (1 - \frac{1}{x^2})$$

$$dz = (1 - \frac{1}{x^2}) dx$$

$$= \int \frac{dz}{z^2 - (\sqrt{2})^2}$$

$$= \frac{1}{2\sqrt{2}} \log \left| \frac{z - \sqrt{2}}{z + \sqrt{2}} \right| + C$$

$$= \frac{1}{2\sqrt{2}} \log \left| \frac{x + \frac{1}{x} - \sqrt{2}}{x + \frac{1}{x} + \sqrt{2}} \right| + C$$

$$= \frac{1}{2\sqrt{2}} \log \left| \frac{x^2 + 1 - \sqrt{2}x}{x^2 + 1 + \sqrt{2}x} \right| + C$$

$$\textcircled{2} \int \frac{1+x^2}{x^2(1+x^2)} dx$$

$$\int \frac{(1+x^2)+x^2}{x^2(1+x^2)} dx$$

$$= \int \frac{dx}{x^2} + \int \frac{dx}{(1+x^2)}$$

$$\int x^{-2} dx + \int \frac{dx}{x^2+1}$$

$$= \frac{x^{-2+1}}{-2+1} + \frac{1}{1} \tan^{-1} x + C$$

$$= -\frac{1}{x} + \tan^{-1} x + C$$

Formula

$$\int \frac{dx}{x^2+a^2} = \frac{1}{a} \tan^{-1} \frac{x}{a}$$

~~$$\int \frac{dx}{x^2+a^2} = \frac{1}{a} \tan^{-1} \frac{x}{a}$$~~

$$\textcircled{3} \int \frac{\sin x \cos x}{\cos^4 x + \sin^4 x} dx$$

$$\int \frac{2 \sin x \cos x}{2(\cos^4 x + \sin^4 x)} dx$$

$$= \int \frac{\sin 2x}{(\cos^2 x + \sin^2 x)^2 + (\cos^2 x - \sin^2 x)^2} dx$$

$$= \int \frac{\sin 2x}{1 + \cos 2x} dx$$

$$2(a+b)^2 = (a+b)(a+b)$$

$$\int \frac{-dz}{2(1+z^2)}$$

$$\text{let } \cos 2x = z$$

$$\frac{dz}{dx} = -2\sin 2x$$

$$= -\frac{1}{2} \int \frac{dz}{1+z^2}$$

$$= -\frac{1}{2} \tan^{-1} \left(\frac{z}{1} \right) + C$$

$$= -\frac{1}{2} \tan^{-1} \left(\frac{\cos 2x}{1} \right) + C$$

$$(4) \int \frac{2x+1}{x(x+3)}$$

$$= \int \frac{(2x+3) - 2}{x^2+3x} dx$$

$$= \int \frac{(2x+3) dx}{x^2+3x} - \int \frac{2 dx}{x^2+3x}$$

$$\log |x^2+3x| - 2 \int \frac{dx}{x^2+3x}$$

$$= \log |x^2+3x| - 2 \int \frac{dx}{\left(x^2+2 \cdot \frac{3}{2} + \frac{9}{4} - \frac{9}{4}\right)}$$

$$= \log |x^2+3x| - 2 \int \frac{dx}{\left(\frac{x+\frac{3}{2}}{2}\right)^2 - \left(\frac{3}{2}\right)^2} \quad \left| \begin{array}{l} \text{let} \\ x+\frac{3}{2} = z \\ dz = dx \end{array} \right.$$

$$= \log |x^2+3x| - 2 \int \frac{dz}{z^2 - (3/2)^2}$$

$$= \log |x^2+3x| - 2 \times \frac{1}{2 \times 3/2} \log \left| \frac{z-3/2}{z+3/2} \right| + C$$

$$= \log |x^2+3x| - \frac{2}{3} \log \left| \frac{x+\frac{3}{2}-\frac{3}{2}}{x+\frac{3}{2}+\frac{3}{2}} \right| + C$$

5

$$\int \frac{dx}{(x-1)\sqrt{x^2+4}}$$

$$\text{Let } x-1 = \frac{1}{z} \Rightarrow dx = -\frac{1}{z^2} dz$$

$$\int \frac{-\frac{1}{z^2} dz}{\frac{1}{z} \sqrt{\left(\frac{1}{z}+1\right)^2+4}}$$

$$\int \frac{-\frac{1}{z^2} dz}{\frac{1}{z} \sqrt{\frac{1}{z^2} + \frac{2}{z} + 1 + 4}}$$

$$= \int \frac{-\frac{1}{z^2} dz}{\frac{1}{z} \sqrt{5z^2 + 2z + 1}}$$

$$= \int \frac{-dz}{\sqrt{5z^2 + 2z + 1}}$$

$$= \int \frac{-dz}{\sqrt{5\left(z^2 + 2\frac{z}{5} + \frac{1}{25} - \frac{1}{25}\right) + \frac{1}{5}}}$$

$$\left| \begin{array}{l} \frac{1}{5} - \frac{1}{25} \\ = \frac{5-1}{25} \\ = \frac{4}{25} \end{array} \right.$$

$$= \int \frac{-dz}{\sqrt{5} \sqrt{\left(z + \frac{1}{5}\right)^2 + \left(\frac{2}{5}\right)^2}}$$

$$= -\frac{1}{\sqrt{5}} \log \left| \left(z + \frac{1}{5}\right) + \sqrt{\left(z + \frac{1}{5}\right)^2 + \left(\frac{2}{5}\right)^2} \right|$$

$$= -\frac{1}{\sqrt{5}} \log \left| \left(\frac{1}{x-1} + \frac{1}{5}\right) + \sqrt{\left(\frac{1}{x-1} + \frac{1}{5}\right)^2 + \frac{4}{25}} \right| + C$$

(6)

$$\int \frac{dx}{(x-1)\sqrt{x+3}}$$

$$x+3 = z^2$$

$$2z dz = dx$$

$$= \int \frac{2z dz}{(z^2-4)z}$$

$$= 2 \int \frac{dz}{z^2-4}$$

$$= 2 \int \frac{dz}{z^2-2^2}$$

$$= 2 \times \frac{1}{2 \times 2} \log \left| \frac{z-2}{z+2} \right| + C$$

$$= \frac{1}{2} \log \left| \frac{\sqrt{x+3}-2}{\sqrt{x+3}+2} \right| + C$$